
SELECTION WITH PROBABILITY PROPORTIONAL TO SIZE (PPS)


(Computerized Version)

Units
Measure
Cumulative
Selection


of Size
 Measures
  Range

  1
5
 5
 .1 - 5.0

  2
2
 7
 5.1 – 7.0

  3
1
 8
 7.1 – 8.0

  4
3
11
 8.1 – 11.0

  5
7
18
11.1 – 18.0

  6
6
24
18.1 – 24.0

  7
2
26
24.1 – 26.0

  8
5
31
26.1 – 31.0

  9
6
37
31.1 – 37.0

 10
3
40
37.1 – 40.0

1) Select 3 units with PPS using simple random sampling (with replacement)


a) Generate 3 random numbers between 1 and 40: 10, 25, 30

   -Selected units: __  __  __


b) Another selection - random numbers: 2, 4, 28


   -Selected units: __  __  __


     -what happens with the first selection?

2a) Select 4 units with PPS using systematic random sampling


Interval = 40/4 = 10  (interval is a WHOLE NUMBER)


Random start between 1 and 10: 5 


Selection numbers: __  __  __  __


Selected units: __  __  __  __

2b) Select 3 units with PPS using systematic random sampling


Interval = 40/3 = 13.3  (FRACTIONAL interval – NO truncation)

Random start between .1 and 13.3: 5.5


Selection numbers: __ __ __    

Selected units: __ __ __       

  
Random start between .1 and 13.3: 0.8 


Selection numbers: ____  ____  ____  ____


Selected units: ___  ___  ___                 

